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Conditions affecting bone healing
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Factors claimed to promote bone healing:

*  Growth hormone

* Thyroid hormone,calcitonin,insulin,vitamins A and D in
physiologic doses

* Anabolic steroids
* Physical exercise

* Hyperbaric oxygen

Conditions affecting bone healing

Factors thought to retard bone healing:

* Infections

*  Corticosteroids

*  X-irradiation

*  Local malignancy

*  Other local pathologic conditions such as Paget’s disease or
fibrous dysplasia

Normal bone healing
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Remodeli
2-6 months.
Hard Callus
2-6 weeks

Soft Callus
1-3 weeks

Granulation
2-12 days
Inflammation
17 days
Hematoma
fays

Early Phase of Bone Healing
Time Progression
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Stages of Bone Repair

Late Phase of Bone Healing
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Intermembrane space
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Diabetes
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‘Cross section of a healthy blood vessel

» Microangiopathy
* Other effects
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Diabetes and wound healing

Wound healing defects in patients with diabetes are
due to:-

eIncreased blood sugar impairing blood flow & oxygen release;

*Protein malnutrition with decreased collagen synthesis due to
chronic illness and poor general nutrition;

eImpaired local immune and cell defences;

*Decreased anabolic activity with decreased insulin and growth
hormone.

Diabetes

Which of the following retards bone healing?

® A) Corticosteriods
B) Anabolic steriods
C) Growth hormone
D) Thyroid hormone
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Where in the cell is glucose broken down into
pyruvate?

A) The mitrochondria
B) The nucleus

@ C) The cytoplasm
D) The golgi bodies
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Before Pyruvate enters Kreb's Cycle what compound
is it converted into with the loss of a carbon atom?

A) Oxaloacetate
® B) Acetyl Co-A
C) Citric acid
D) Glucagon
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Where in the mitrochonral membrane does NADH
lose its hydrogen ion?

A) The phospholipid membrane

® B) The cytochomes
C) The ATP phosphatase complex
D) The protein pumps
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How many molecules of ATP are produced from each
molecule of glucose in anaerobic cellular respiration?

® A) 2 molecules
B) 8 molecules
C) 19 molecules

D) 30 molecules
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